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Section — A (Short Answer type questions)
Answer All Questions

1.

W
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What is meant by a "state space” in AI?

Differentiate between problem characteristics and production
system characteristics.

What are the primary issues in knowledge representation?
What is the key difference between forward reasoning and
backward reasoning?

What is Bayes’ theorem? State its formula.

What are certainty factors in rule-based systems?

List the key components of a planning system.

What is the "Blocks World" problem in planning systems?
Define a decision tree.

What is learning from examples? Provide an example.

Section B (Essay Questions)

Answer all questions, each question carries equal marks.

11. A)

B)

12. A)

B)

13. A)

B)

14. A)

B)

15. A)

B)

Explain how best first search is implemented using heuristic function
for best path selection.

OR
Explain about Constraint satisfaction problem with example.

Describe ISA and instance relations with examples, highlighting their
importance in AT knowledge representation.

OR
Compare procedural and declarative knowledge. Discuss their
relevance in Al systems with examples.

Explain the steps for implementing depth-first search (DFS) and
breadth-first search (BFS) with examples.

OR
Discuss the logics used for non-monotonic reasoning and their
applications in Al systems.

Explain the Minimax algorithm with an example. How does it apply to
two-player games?

OR
What are Augmented Transition Networks (ATNs)? Explain their use
in syntactic and semantic analysis.

What is a knowledge shell? Discuss its components and role in the
development of expert systems.

OR
Describe Winston’s Learning Program. Explain how it helps in
learning concepts through examples and counterexamples.
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